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УНИВЕРЗИТЕТ  У  БЕОГРАДУ

ФАКУЛТЕТ ОРГАНИЗАЦИОНИХ НАУКА
	ENGLESKI JEZIK 1 – ISPIT 
IME I PREZIME: ________________________________

Broj indeksa: _____________________ 
GRUPA 


TEXT
I Decide if the following statements are true (T) or false (F) according to the text above (5 points):
	
	T
	F

	1. The Industrial Revolution meant transfer from barter to money transfer.
	
	

	2.
	
	

	3.
	
	

	4.
	
	

	5.
	
	


II Find the term that corresponds with the given definition. (20 points)
	1. A person who owns manages the company: 
	

	2. 
	

	3. 
	

	4. 
	

	5. 
	

	6. 
	

	7. 
	

	8. 
	

	9. 
	

	10. 
	


III Tick the correct option (10 points):

1. Yesterday I applied for a full-time work        job        place        in a bank.
2. …

3. …

4. …

5. …
IV Use the word in brackets to form the correct form of the word (10 points).
1. The exchange of goods between the two companies shows mutual _________________. (INTERDEPENDENT) 

2. …

3. …

4. …

5. …
V  Match these sentence halves (e.g. 1 a) (5 points):

	1. 
	a. 
	1.
	a

	2. 
	b. 
	2.
	

	3. 
	c. 
	3.
	

	4. 
	d. 
	4.
	

	5. 
	e. 
	5.
	



























































